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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

Answer any 5 questions.

o

Every questions carry equal (15) marks. .

(U'S)

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

BE & fou s
1 =9 YHA-T9 @ R & FW R Fuiia e ® e

FEHI forfeg |

P.T.O.



3805 2
) el 5 WEl W IR |
3. aoft yAl & IR E (15) &1

4. T VA~ IR SR a1 B B o o1 ¥ SR, My
f ST =1 W T 8 B A1ET |

1. (a) List the principal professional activities of
macroeconomists. What role does macroeconomic

research play in each of these activities?

(b) Differentiate between GDP and GNP.  (10,5)
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2. (a) Explain the steps involved in the estimation of GDP

using the value-added method.

(b) Find the Net Value Added at factor cost -
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[tems Amount (in Rupecs)
Indirect taxes ‘ 25 (lakhs)
Depreciation 5
Closing stock 10
Opening stock 20
Value of output 540

Purchase of raw material 140 °

(10,5)
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3. Suppose you have been given the following information

about the closed cconomy

C=20+08Y,
I =50
G = 20
T =10

Yd = Disposable Income = Y -T

(i) Find the equilibrium level of national income (Y).

(i) Find an equilibrium level of consumption (C) and

savings (S).

(iii) Are savings equal to consumption at the

equilibrium level of income?

(iv) Calculate the eciuilibrium level of national income
when government spénding is incféased'by 10

units.

(v) Calculate’ fh_e value of the -governfnent spending

multiplier. ' (5%3)
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C=20+08Y,

I =250
G =20
T=10

(Yd == Qwg 3@ = Y -T)
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4. (a) Describe 'the various components of Aggregate

Savings. What are the uses of Private Savings?

(b) What is the difference between real and nominal
interest rates? If inflation rises in a country, how

will it affect the real interest rate? (9,6)

P.T.O.
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5. Explain the Net Exports function using a’ suitable
diagram. What arc the factors responsible for the

shift in the Net Exportsvfunc/tion? | (15)
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6. (a) What are the functions of money?

(b) What do you understand By MOnétary Policy?
What are the instruments of Monetary Policy?
” | (9,6)
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7. (a) llustrate the determinants of Demand for and the

Supply of Central Bank Money.

(b) What do you mean by the velocity of money? In
2012, suppose that the GDP was $15,829 billion,
and M2 money stock was an average $10,476

billion circulated in the economy. What is M2

velocity here? (9,6)
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8. Write short notes on any two :
(1) Speculative demand fdr ;noﬁey
(i) GDP Deflator
(111)) User cost of capital

(iv) Automatic Stabilizers ' (7.5%2)
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